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261 Test1  FORM A

1. Find a vector function r(t) that traces the line which contains the point (3,4,0) and
is perpendicular to the plane z = 2z — 5y +- 7.

A. r(t) = (2+ 3t,—5 + 4t,1)
B. r(t) = (3 —t,2+ 4t, —t)
C. r(t)=(Q+¢t2—-3t7+t)
D. r(t) = (3+1t,4+ 5t,t)

@r(t) — (34 2t,4 — 5t, )
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2. The approximate change of z = \/1 + z + y2 as (z,y) changes from (2, 1) to (1.9,1.2)
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3. The length of the path traced out by r(t) = 2t3/2 i+ cos 2t j+sin 2t k over the interval
0<t<2is
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4. Suppose f(7,8) = 5, f(7.1,8) = 5.1, f(7,8.2) = 5.4, and f(7.1,8.2) = 5.5. The best
estimates for f;(7,8) and f,(7,8) based on this data are

A. f2(7,8) =2 and f,(7,8) =1
B. f.(7,8) =2 and f,(7,8) =2
C. f2(7,8) =1and f,(7,8) =
@fx(z 8) =1 and f,(7,8) = 2
E. f.(7,8) =3 and f,(7,8) = 1
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5. Find the equation of the tangent plane to z = €*¥ at the point (1,1,e)
A z=ex+ey+1
B. z=z+y+e—2
C. z=ex+ey+e

@z:eac+ey—e

B. z=z+y+1
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6. The vector projection of 4j onto 4i + 4j, that is, projs;4; 4j, equals
A i+
(B 2i +2;
C. 3i+3j
D. 4i+4j
E. 4j
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7. Find b and ¢ so that v = (4, b, ¢) is parallel to the planes z+y+2 = 3 and 2z +2 = 0.
A b=-8c=4
B. b=8,c=14
C. b=12,c=14
D. b=—-4,c=-8

(B b=4,c= -8
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8. The graph of z2 —2y? 4+ 322 —4=0s

A

3. A hyperboloid of one sheet which does not intersect the y axis

A hyperboloid of one sheet which does not intersect the z axis

. A hyperboloid of one sheet which does not intersect the z axis
. A hyperboloid of two sheets which does intersect the y axis

. A hyperboloid of two sheets which does intersect the z axis
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9. Let r(0) = i+j, v(0) = 2i + 3j, a(t) = €], where r"(t) = a(t) and r'(t) = v(t).

Find r(1).
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10. If E is the region defined by y > 0,y — x < 0, and 2% + y? + 22 < 4, then describe E
in spherical coordinates -

7 A'0<p<4, 0<0<g,0<¢<7r

B. 0<p<2,0<0<%,0<¢<%

2‘C_0<p<2, Z—<0<7r, 0<¢<g

D. O<p<2,0<0<g,0<¢<%

B0<p<2,0<0<%,0<¢<ﬂ
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11. The tangent line to the curve traced out by r(t) = (cost,sint,t) at the point (0,1, %)
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